1. What is a bridge?

2. What is the basic function of a bridge?

3. What is a switch?

4. What is the basic function of switch?

5. Why is bandwidth doubled when full duplex is used?

6. What is CAM?

7. What is the function of CAM?

8. What is latency?

9. Name some of the causes of delays?

10. What is cut-through packet switching?

11. What is the advantage and disadvantage of cut-through?

12. What is store-and-forward?

13. What is fragment-free packet switching?

14. What is symmetric switching? Give example

15. What is asymmetric switching? Give example

16. Do the Interactive Media Activity on 8.1.5.

17. Why are redundant paths desirable?

18. What is the side effect?

19. Why do the switches use spanning-tree algorithm?

20. What are the five states of STP?

21. Do the Interactive Media Activity on 8.1.6?

22. What is shared media environment?

23. What is extended shared media environment?

24. What is point-to-point network environment?

25. Which layer devices can break up collision domains?

26. What is segmentation?

27. What are the layer 1 devices?

28. What does layer 1 device do in LAN?

29. What is late collision?

30. What is 5-4-3-2-1 rule?

31. What is collision domain?

32. What are layer 2 devices?

33. What do they do?

34. Do the Interactive Media Activity on 8.2.3

35. What is an address to which the NIC of every host must respond?

36. What is broadcast radiation?

37. What is broadcast storm?

38. How would affect the network performance?

39. Why would some administrators configure all workstations to run Routing Information Protocol (RIP)?

40. How often does RIP1 use broadcasts to retransmit the entire RIP routing table to other RIP routers?

41. What is broadcast domain?

42. By which Layer devices do broadcasts forwarded?

43. By which Layer can broadcasts be controlled?

44. At what Layer do routers actually work? What makes router different from other layer 1 and layer 2 devices?

45. What is Layer 3 forwarding based on? On destination IP address or on MAC address?

46. What is data flow?

47. At the network layer what is data encapsulated with? IP source and destination address?

48. At the data-link layer what is data encapsulated with? IP source and destination address?

49. What is a good rule to follow in terms of data flow? Layer 1 devices, Layer 2 devices and Layer 3 devices? 

50. What are traffic management devices used at different layers?

51. What are the major differences between Layer 1 devices and Layer 2 devices?

52. What is network segment?

